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Leave\
blank
v=.12
“\b
a = 6.43 correct to 2 decimal places.
b =15.514 correct to 3 decimal places.
By considering bounds, work out the value of v to a suitable degree of accuracy.
You must show all your working and give a reason for your final answer.
VE e Q1
(Total 5 marks) T
/
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Leave )
blank
2. Aball is thrown vertically upwards with a speed ' metres per second.

The height, H metres, to which it rises is given by

V2

H="——
2g

where gm/s? is the acceleration due to gravity.

V' =24.4 correct to 3 significant figures.
g =9.8 correct to 2 significant figures.

(i) Write down the lower bound of g.

(i) Calculate the upper bound of H.
Give your answer correct to 3 significant figures.

(Total 3 marks) T
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Leave

blank
3. A field is in the shape of a rectangle.
The width of the field is 28 metres, measured to the nearest metre.
(a) Work out the upper bound of the width of the field.
......................... metres
@
The length of the field is 145 metres, measured to the nearest 5 metres.
(b) Work out the upper bound for the perimeter of the field.
......................... metres
3 Q3

(Total 4 marks) T

:
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Leave )
blank
4. Katy drove for 238 miles, correct to the nearest mile.
She used 27.3 litres of petrol, to the nearest tenth of a litre.
Petrol consumption — Number of miles travelled
P Number of litres of petrol used
Work out the upper bound for the petrol consumption for Katy’s journey.
Give your answer correct to 2 decimal places.
...................................... miles per litre Q4
(Total 3 marks) T
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5.

Leave\
blank
(a) A solid cube has sides of length 5cm.
Diagram NOT
accurately drawn
Scm
Scm Scm
Work out the total surface area of the cube.
State the units of your answer.
“4)
The volume of the cube is 125 cm?.
(b) Change 125 cm? into mm?.
............................ mm?
(2)
The weight of the cube is 87 grams, correct to the nearest gram.
(c) (i) What is the minimum the weight could be?
............................ grams
(1)) What is the maximum the weight could be?
............................ grams  |g
(2)
(Total 8 marks)
J
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Leave )
blank
6. The length of a line is 63 centimetres, correct to the nearest centimetre.
(a) Write down the least possible length of the line.
........................................ centimetres
(O]
(b) Write down the greatest possible length of the line.
........................................ centimetres
n Q6

(Total 2 marks) T
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blank

. The voltage V of an electronic circuit is given by the formula

V=1IR

where / is the current in amps
and R is the resistance in ohms.

Given that V=218 correct to 3 significant figures,
R =12.6 correct to 3 significant figures,

calculate the lower bound of 1.

(Total 3 marks) j
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